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ERIES PR ERA () () ER rEeE
m m
ELXIE (FUK —REE (BEXMSN) 113F 105.0 13.0 ElA I
ELXE (LY —iEE (EEXMN) 1135 105.0 13.0 b4 I
wEERT I CB —REE (EEXMN) 1135 41.0 10.4 ElA I
IR ARAE —BEE (EEXMN) 1135 112.0 10.7 X I
FFHIIIBONTY T 45 —REE (EERMEN 1135 64.0 10.0 45 I
IRNINGE NS —BEE (EEXMN) 1135 18.0 22.3 b4 I
RS TXETAE (1#) EBl-RiER 45.0 10.7 ElA I
£ B S TRETHE (Z0f#) JL3-7854 52.0 4.5 b4 I
AR HXETHE (Z0Ofh) JL3-3754# 58.0 10.9 kX jiig
CENORIERE —BEE (EEXMN) 1135 937.0 13.3 BHX I
EBRKXE —EE (EEXMN) 1135 45.0 30.3 BX I
LIl BEHRAE MRETHE (2#) REERRLIS 236.0 8.8 BHX I
B ERE TXETHFIE (Z01th) R5-945# 397.0 4.6 BX I
Wi/ FHESERE —iEE (EEXMN) 1135 67.0 3.3 PRX il
BEES VT —EE (EEXMN) 1135 765.0 17.4 FRX il
1245 TRETHE (14) KERER 28.0 9.3 IR I
UNGELa2 —REE (BEXMSY) 4035 251.0 12.0 MER I
RKBKRAE —iEE (EEXMN) 4035 21.0 12.4 MERX il
IR BERE —iEE (EEXMN) 4035 166.0 7.3 ERX il
HIEEER —REE (BEXMSY) 4035 109.0 12.0 MER I
KiBIE —iEE (EEXMN) 4605 18.0 9.2 BERX il
NAR1 548 —EE (EEXMSN) 4605 27.0 10.0 MER I
EAREFKRE —iEE (EEXMN) 4605 156.0 18.8 ERX il
FEXE —EE (EEXMSN) 4605 44.0 21.8 MER I
wadess (&) —EE (EEXMN) 4605 41.0 9.3 ERX I
& (&) —EE (EEXMSN) 4605 41.0 9.3 MER I
BEEXBIE —iEE (EEXMN) 4605 23.0 19.0 MERX I
tLi5e4E TXETFE (18 FETRARER 45.0 9.5 MER I
EAARITE —iEE (EEXMN) 4605 99.0 9.5 53153 il
K45 (2) FEMFBEFEPRERIKER 42.0 8.7 [:3]8 I
RS —iEE (EEXMN) 4025 63.0 6.0 (=3 il
ERIEHERE —REE (BEXMSN) 4025 65.0 2.5 Aax I
HHEKIE ;ﬁT%B:Tg;E (1#%) 142 —ER 2520 18.8 TR I
LI B BB 44T TRETHE (18 PMEHR2S 207.0 14.0 [i]=3 il
BRE —iEE (EEXMN) 4025 30.0 9.8 iz 8 il
THIEKHE —EE (EEXMN) 4025 60.0 8.7 FEHER I




BB B8 2 s 128 FER | RLE
m) (m)
wIE —REE (FBEXMMN) 4605 19. 6.2 [iich: =3 I
HAENE —ikEE (EERXRM4S) 4605 99. 10.0 [icp = I
FERHTHE —REE (FBEXMN) 4605 26. 14.0 [rich =8 I
TRSE HRETHE (Z0fih) FRES-17754 26. 10.0 ] =8 I
BNESL B TRETFE (ZF01th) F&85-27454% 26. 3.5 ] = I
H|LKE (5) HEREFE (F0fh) R8-27754# 31. 8.5 HX I
A2 4E (6) THXEFE (F0fh) RE-2TT5# 31. 8.5 BX I
Ryo R —ikEE (EERXRMSMN) 1135 17. 27.0 b|4=3 I
KK & HiE —REE (BEXMMN) 4025 8. 8.9 ik =3 m
AEOE —ikEE (EERXM4S) 4605 11. 5.6 ik 13 I
h 215 —fREE (EEXMMN) 1135 9. 22.3 hRX I
ERE —ikEE (EERXRMSN) 1135 8. 26.0 b|4=3 I
B Z#EE —REE (BEXMMN) 4025 9. 11.8 [iich: =3 m
AHE —ikEE (EERXRM4S) 4025 3. 8.0 ik 13 I
N EE —fREE (FEEXMS) 4035 11. 17.0 MER m
EERE —ikEE (EERXM4S) 4035 12. 11.9 MER I
B4R —fREE (FEEXMS) 4035 4. 8.0 MER m
BS 7B —ikEE (EERXRM4S) 4605 11. 17.3 MER I
AS > THE —REE (BEXMMN) 4605 10. 9.0 MER I
KERE —fREE (BEXMN) 4605 4. 6.9 MER I
|mEAKE0T) —ikEE (EERXM4S) 4605 3. 9.4 MER I
TEERERIE —REE (BEXM) 4605 10. 10.6 153 il
K5 —ikEE (EERXM4S) 4605 4. 9.1 2158 I
FHE —REE (BEXMN) 4605 3. 9.1 2153 m
KBt —ikEE (EERXM4S) 4605 7. 7.3 =3 if
LE4E —REE (BEXMMN) 4605 6. 10.2 2153 I
SHETIE —ikEE (EERXM4S) 4605 4. 6.6 ik 13 I
h B8 (2) —REE (BEXMN) 4605 7. 8.7 [rich =8 I
hEEHERE —ikEE (EERXRM4S) 4605 8. 3.8 [icp= = I
AT (18) —REE (BEXMN) 4605 2. 1.2 [iich: =3 I
FARLWLNE —ikEE (EERXM4S) 4605 14. 1.5 [iicp = I
FARIWNIESERE —REE (BEEXMN) 4605 14. 2.8 ik =3 I
|AKE(19) —ikEE (EERXRM4S) 4605 5. 15.0 ik 13 I
EiIiE —REE (FEEXMN) 4605 2. 7.5 [iich: =3 m
TiiE —ikEE (EERXRM4S) 4605 3. 1.7 ik {3 I
My BE —fREE (BEXMMN) 4605 2. 5.5 [iich: =3 I
AEAEA) —ikEE (EERXM4S) 4605 11. 10.3 [rich 13 I
TWLWT7HERE —fREE (BEXMMN) 1135 11. 21.3 BX I




B4 B4 BE 1 BR | mar | mex
AN (743) TRETHIE (Z0ith) FERE2-23254% 3.5 6.0 X I
AN (812) MXETAE (140 BEFHR 6.7 15.6 Aax I
AR (813) TRETAE (14%) FHEREaRER 4.0 9.0 [ic] =8 I
AN (814) MRETAGE (14 HEREAIRER 4.9 6.0 [:]=3 I
#EALE (815) RETAE (14%) FHEREARER 3.5 6.1 [ic] =8 I
#EAIE (816) MRETASE (14 HEREAIRER 6.0 6.0 ] I
AR @17 RETAE (14%) FHEREARER 4.0 6.0 X I
RAIE (818) MRETAGE (148 HEREAIRER 2.3 8.0 ] I
AR (819) MRETAE (14%) FHEREARER 8.5 5.9 X I
#EA1NE (820) MRETASE (14 HEHREAIRER 5.2 6.0 Aax I
AR (821) RETASE (14%) FHEREARER 4.6 6.0 X I
RANE (822) MRETAGE (148 HEREAIRER 4.4 4.4 [:]=3 I
AR (823) RETASE (14%) FHEREAIRER 5.8 6.0 [ic] =8 I
EANE (824) TRETFE (1#) EAASR 7.1 7.1 [ >3 I
ARG (825) TRXETHE (1#k) KEEIVNESR 6.3 6.0 [i]=3 I
#EA1IE (826) MRETAE (180 KBEARSHR 2.1 5.0 [:]=3 I
ANE (828) TRRETHFE (148 #FHiE#R 4.3 3.5 [ =3 I
EANE (829) MXETAGE (24%) FRIFHEEHTER 4.6 5.0 [:]=3 I
ARG (830) TRETHE (24)) FE2SR 6.5 3.1 [ =3 I
ANE (831) TRXETHE (248)) FBEXRR 5.7 1.5 X I
RANE (832) MRETAE (24%) SHRHR 4.8 5.5 [:]=3 I
AR (833) TRETAE (24k) SHRHR 4.2 4.7 [ic] =8 I
RANE (834) MRETAE (24 &HB/NFEHR 3.0 4.2 Aax I
EAIE (835) TRETHE (2#8) &5LHR 4.3 7.0 [ =3 I
#EAHE (836) MXETAGE (24 £5IL5R 3.3 7.1 [:]=3 I
FANE (837) TRXETHE (2#8) KSRHAR 3.2 5.0 [ =3 I
#EAIE (838) MXETAGE (24 KSTRHR 3.0 5.2 [:]=3 I
FAIE (839) TRXETHE (2#8) KSRAR 4.9 7.0 [ =3 I
#EAIE (840) MXETAE (24%) KSTRHR 6.3 7.0 [:]=3 I
ANE (841) TRETHE (28) RERGR 4.6 5.0 [ =3 I
RANE (842) MXETAE (24 RRARSGHR 2.4 5.5 [:]=3 I
BUAMIE TRETHE (28) REHEIR 12.4 5.0 [ =3 I
#EANE (845) MXETAGE (24%) RRHEILR 4.5 5.0 [:]=3 I
A1 (846) TRETAE (24k) PHEFR 8.0 4.0 X I
RANE (847) MXETAGE (24k) AR 3.1 5.1 [ >3 I
ANE (849) TRETHIE (Z0ith) FERE2-22954% 2.8 5.9 X I
#EAHE (850) MXETAGE (Z0ft) FEES-205#R 2.5 3.5 [:]=3 I
AN (851) TRETHE (Z0ith) FER3-5354R 2.1 4.0 X I




BB B8 2 s 128 FER | RLE
m) (m)
|15 (852) THXEFE (Z0fth) FERI3-685F 2. 3.0 ] = I
|A1E (853) TXEFE (F0fh) FERG3-695§ 2. 4.0 X I
AT (854) THXEFE (Z0fh) FErRE3-T05§ 2. 3.0 5] = I
A 1E (855) TEREFE (F0fih) FERE3-T156H 3. 3.2 X I
#|A1E (856) TXEFE (Z0fh) FErRE3-1256% 3. 6.0 5] = I
|A1E (857) TXREFE (F0fh) FERE3-1356H 3. 2.9 X I
#|A1E (858) TXEFE (Z0fh) FErRE3-T456 3. 3.1 ] = I
|A1E (859) TXREFE (F0fh) FERE3-185#% 2. 4.0 [riz] =3 I
#|A1E (860) TEEFE (Z0fh) FERI3-995#E 1. 6.0 ] =8 I
|A1E (861) HEEFE (F0fih) FERG3-10254 2. 3.1 [ric] =3 I
|A1E (862) TXETFE (ZF04th) FERI3-103E5# 3. 2.3 il =3 I
|A1E (863) HEEFE (F0fh) FERG3-10554 3. 3.0 [riz] =3 I
|15 (864) TXETFE (F01th) FERI3-12954# 3. 4.0 il =3 I
|A1E (865) HEREFE (F0fih) FERG3-13054 3. 5.0 X I
|15 (867) TXETFE (F01th) FERF3-1315# 3. 4.0 il =3 I
|A1E (868) HEEFE (F0fh) FERG3-1385# 3. 3.0 X I
|15 (870) TXRETFE (Z01th) FERE3-14154 3. 3.1 il =3 I
|15 (871) HEREFE (F0fh) FERI3-146548 4. 5.1 [ric] =3 I
|A1E (872) TXETFE (ZF01ith) FERI3-14954# 3. 4.3 il =3 I
|15 (873) TXETFE (ZF01th) FARI3-1505# 2. 4.7 ic]=3 I
|ALE (874) HEREFE (F0fh) FERG3-15354 3. 3.0 [ric] =3 I
|15 (875) TXETFE (ZF014th) FERI3-1555# 3. 4.0 ic]=3 I
|A1E (876) HEREFE (F0fh) FERG3-15756 2. 9.5 X I
|AE (877) TXETFE (ZF04th) FERI3-1575#H 9. 4.0 il =3 I
|A1E (878) HEEFE (F0fh) FERI3-1585# 2. 4.6 X I
|15 (881) TXETFE (ZF01th) FARI3-1805# 5. 4.0 Fic]=3 I
|A1E (882) HEREFE (F0fh) FERG3-1825# 5. 5.0 X I
CIEKB &5 TXRETFE (Z01th) FARg3-24654# 13. 9.0 i =3 i
SNHULE HRETHE (Z0fih) FAR3-27654% 13. 8.1 ] = I
#|A1E (883) TXRETFE (ZF01th) FERg3-2795# 3. 4.6 il =3 I
|A1E (884) TEREFE (F0fth) FERF4-35H 3. 4.7 [riz] =3 I
#4215 (885) TRETFE (Z01th) FERE4-154 3. 4.7 ic]=3 I
|A1E (886) TREFE (F0fth) FERF4-95H 3. 4.7 X I
|15 (887) TXREFE (Z0fth) FErRE4-1356 3. 4.7 AmX I
|A1E (888) HEEFE (F0fih) FERF4-1956 3. 3.3 X I
#|A1E (889) THXEFE (Z0fth) FErRE4-2256 3. 4.8 5] =8 I
|A1E (890) HERETFE (F0fh) FER4-2356 3. 4.7 [riz] =3 I
A5 (891) THXEFE (Z0fth) FErRI4-365§F 2. 4.0 5] = I




BB B8 2 s 128 FER | RLE
m) (m)
|15 (892) TRETFE (F01ith) FERg4-4454 6.8 1. i =3 I
|A1E (893) TXREFE (F0fh) FER4-485R 6.0 4. X I
AT (894) TXRETFE (ZF01th) FERF4-58E 4R 4.5 4. i =3 I
|A1E (895) TXEFE (F0fh) FERG4-6258 8.5 4. X I
A 1E (896) TXRETFE (ZF01ith) FERF4-63E54R 2.2 2. ic]=3 I
|A1E (897) TXEFE (F0fh) FERG4-6458% 2.0 4. X I
|15 (898) TRETFE (ZF01ith) FARF4-18E54R 8.2 4. i =3 I
|A1E (899) TXREFE (F0fh) FERG4-8158 3.5 5. [riz] =3 I
A5 (904) TXRETFE (ZF01ith) FERF4-9054R 3.2 4. i =3 I
|A15 (905) TXEFE (F0fih) FERF4-905§ 3.3 3. [ric] =3 I
#EA1E (906) TXETFE (ZF04th) FERF4-108E5 4 3.2 3. il =3 I
|45 (907) HEREFE (F0fih) FERG4-10954 3.2 3. [riz] =3 I
#EA1E (908) TXRETFE (F01th) FERF4-11554 3.2 3. il =3 I
|A15 (909) HEREFE (F0fih) FER4-12554 2.4 3. X I
|15 (910) TXRETFE (ZF01th) FAR4-15454 2.8 3. il =3 I
|5 (911) HEREFE (F0fh) FERG4-15454 4.3 3. X I
|ALE (912) TXRETFE (ZF01th) FERF4-15954# 3.4 4. il =3 I
|15 (913) HEREFE (F0fh) FERG4-164548 4.3 3. [ric] =3 I
AT (914) TXRETFE (ZF01th) FARG4-16554# 2.0 4. il =3 m
|15 (915) TXRETFE (ZF01th) FARF4-16554# 3.2 4. ic]=3 I
|A1E (916) HEREFE (F0fh) FERG4-16654% 4.3 3. [ric] =3 I
|AKE917) TXETFE (ZF01th) FER4-16754# 4.3 3. ic]=3 I
|15 (918) TEREFE (F0fh) FERg4-174548 4.5 3. X I
|15 (919) TXRETFE (F01th) FErRF4-171554 3.4 4. il =3 I
|A1E (920) TEREFE (F0fh) FERg4-17554 2.7 3. X I
AT (921) TXRETFE (F014th) FArRg4-22154 2.0 4. Fic]=3 I
|15 (922) HEREFE (F0fh) FERF4-24654% 3.5 3. X I
|15 (923) TXRETFE (Z01th) FARG4-2565 4 4.3 2. il =3 I
|A1E (924) HEREFE (F0fh) FERG4-26154 2.6 10. X I
A5 (925) TXETFE (ZF04th) FAR4-2905 4 2.0 3. il =3 I
|A1E (926) TXREFE (F0fh) FERIS-1256 3.0 5. [riz] =3 I
AT (927) TXETFE (F01ith) FERIS-13548 3.0 4. ic]=3 I
|A1E (928) TEREFE (F0fih) FERES-1456 3.0 4. X I
#EA1E (929) TRETFE (ZF01ith) FERFS-1556 3.0 4. il =3 I
|A1E (930) HEEFE (F0fh) FERI5-1656 3.5 4. X I
A5 (931) TRETFE (ZF01ith) FERIS-1956 2.8 5. ic]=3 I
|A1E (932) HEEFE (F0fh) FERE5S-2056 3.0 5. [ric] =3 I
A5 (933) TRETFE (F01th) FERIS-21546 3.0 5. ic]=3 I




B4 B4 BE 1 BR | mar | mex
AN (934) TRETHE (Z0ith) FERS-2154R 2.5 5. X I
EX VN MXETAE (Z0ft) FEES-305#R 12.8 5. [:]=3 I
ARG (935) TRETHE (Z0ith) FER5S-3154R 2.5 10. X I
AT (936) MXETAGE (Z0ft) FEES-355#R 2.5 8. [:]=3 I
F|ANE(937) TRETHE (Z0Hith) FER5-3654R 2.5 6. X I
EAHE (938) MXETAGE (Z0ft) FEES-385#R 2.0 1. [:]=3 I
AIE (939) TRETHE (Z0ith) FERS-4654R 2.5 4. [1ic] =8 I
FEAHE (940) MXETAGE (Z0ft) FEES-5154#R 2.2 2. [:]=3 I
AN (941) TRETHE (Z0ith) FER5-5354R 4.3 1. X I
RANE (942) MXETASE (Z0ft) FEES-T165#R 2.5 1. [:]=3 I
FANE (943) TRETHE (Z0ith) FER6-35# 2.8 4. X I
RANE (944) MXETAGE (Z0fth) FERI6-85#R 3.0 6. [:]=3 I
EANE (945) TRETHE (Z0ith) FER6-3354R 2.2 3. X I
#EAKE (946) MXETAGE (Z0ft) FEE6-7185#R 2.5 3. [:]=3 I
FANE (947) TRETHE (Z0ith) FER6-8254R 2.6 3. X I
EANE (948) MXETAGE (Z0ft) FEEI6-835#R 2.6 3. [:]=3 I
FANE (949) TRETHIE (Z0fth) FERE6-10454R 4.6 3. X I
#EAHE (950) MXETAE (Z0fth) FER6-11454 3.2 4. [:]=3 il
F|ANE(951) TRETHE (Z0fth) FERE6-12354R 6.5 4. X I
AIE (952) TRETHIE (Z0th) FERE6-14654R 4.4 3. X I
#EAHE (953) MXETAE (Z0fth) FER6-14754 4.4 3. [:]=3 I
EAIE (954) TRETHE (Z0ith) FERE6-16054R 3.8 4. X I
#EAHE (955) MXETAE (Z0fth) FERI6-16154R 3.9 4. [:]=3 I
FEAHE (956) TRETHE (Z0ith) FERE6-16354R 3.3 6. X I
EANE (957) MXETAGE (Z0fth) FERI6-16454% 3.4 3. [:]=3 il
FEAIE (958) TRETHE (Z0th) FERE6-1695R 6.3 4. Aax I
#EAHE (960) MXETAGE (Z0fth) BEET-55# 4.3 4. [:]=3 I
AN (961) TRETHE (Z0ith) FERT-T5# 2.3 3. X il
#EAIE (962) MXETAGE (Z0ft) BEET-125# 2.1 2. [:]=3 il
EAHE (963) TRETHE (Z0ith) FERT-1354R 2.4 4. Aax il
EANE (964) MXETAGE (Z0ft) BEET-155#R 3.0 4. [:]=3 I
ARG (965) TRETHE (Z0ith) FERT-7954R 3.0 4. X I
#EAHE (966) MXETAGE (Z0ft) FEET-805#R 3.0 4. [:]=3 I
AN (967) TRETHE (Z0ith) FERT-8254% 6.3 4. Aax I
#EA1E (968) MXETAGE (Z0ft) FEET-845#R 5.0 3. [:]=3 I
AT (969) TRETHE (ZDith) FERT-9354R 1.3 4. Aax I
AT (970) MXETAGE (Z0ft) FEET-955#R 6.1 5. [:]=3 I
E|AKE O TRETHE (ZDith) FERT-9554R 6.8 1. X I




BB B8 2 s 128 FER | RLE
m) (m)
AT (972) TXETFE (F01th) FERFT-1305# 7.3 3. i =3 I
|15 (973) TEREFE (F0fh) FERF/-13156 4.8 3. X I
|AE (974) TXETFE (Z04th) FERT-13154# 4.3 3. i =3 I
|A1E (975) HEREFE (F0fh) FERFT-13254 3.7 3. X I
|15 (976) TXETFE (F014th) FERET-13254 12.9 4. i =3 I
|AE (977) HEEFE (F0fh) FERFT-13254 5.4 3. [ric] =3 m
|15 (978) TXETFE (F01th) FERET-13454 4.8 3. i =3 m
|45 (979) HEREFE (F0fh) FERFT-13454 3.8 3. X m
#EA1E (980) TXETFE (Z01th) FERET-13454 7.1 5. il =3 I
|A1E (981) HEREFE (F0fh) FER7-13554 4.0 3. [ric] =3 I
|15 (982) TXETFE (ZF01th) FERFT-13654# 4.0 3. il =3 I
|A1E (983) HEREFE (F0fh) FERF/-13754 4.0 3. X I
|15 (984) TXRETFE (Z01th) FERFT-1385# 3.5 3. il =3 I
|A15 (985) HEREFE (F0fh) FER7-13954 3.5 3. X I
A 1E (986) TXETFE (Z014th) FERET-14054 3.5 3. il =3 I
|A1E (987) HEEFE (F0fh) FER7-14054 1.5 5. X I
A 1E (988) TXRETFE (F04th) FERET-14154 3.5 3. il =3 I
|A1E (989) HEREFE (F0fh) FERFT-14254 3.5 3. [riz] =3 I
#EA1E (990) TXETFE (ZF014th) FERET-14354 3.5 3. il =3 I
A5 (991) TXETFE (F01th) FERT-14454 3.5 3. ic]=3 I
|A1E (992) HEREFE (F0fh) FERGT-16554 12.0 4. X I
A5 (993) TXETFE (ZF014th) FERFT-16554# 5.8 3. i =3 I
|A1E (994) HEEFE (F0fh) FERGT-16654 2.4 3. X m
A5 (995) TXETFE (ZF01th) FERIT-16654# 2.4 3. ic]=3 I
|A1E (996) HEREFE (F0fh) FER7-1855# 3.5 2. [ric] =3 I
AT (997) TXETFE (Z01th) FERFT-1865# 3.5 3. il =3 I
|A1E (998) HEREFE (F0fh) FERF/-18754 3.5 2. [ric] =3 I
A5 (999) TXETFE (ZF01th) FERGT-1885# 3.5 2. il =3 I
4245 (1000) HREFE (F0fh) FER7-1895# 3.5 2. X I
A% (1001) TXETFE (Z01th) FERFT-19054# 3.5 3. i =3 I
A4S (1002) HEREFE (F0fih) FERF7-19354 2.9 4. X I
A 4E (1003) TXETFE (Z01th) FERET-19454 2.8 4. ic]=3 I
A4S (1004) HREFE (F0fh) FERF/-19554 2.0 3. X I
#2145 (1005) TXETFE (F01th) FERFT-19554# 6.1 4. il =3 I
215 (1006) HEREFE (F0fih) FERFT-22054 1.5 5. [riz] =3 I
#2145 (1009) TXRETFE (F01th) @455 2.1 2. il =3 I
M|AKE (1010) TEREFE (F0fh) -85 2.2 2. [ric] =3 o
ALK (1011) TRETFE (Z01th) F@84-1254 2.4 3. ic]=3 I




BB B8 2 s 128 FER | RLE
m) (m)
A5 (1012) TRETFE (Z01th) F@4-16548 2. 4. i =3 I
M|AKE (1013) HRETHE (Z0fth) Fa4-2554 3. 5. X I
A5 (1014) TRETHFE (F01th) F@84-3154 5. 9. i =3 I
M|AKE (1015) HRETHE (Z0fth) Fa4-655HR 2. 3. X I
#EA21E (1016) TRETFE (F01th) F@4-11954 2. 4. ic]=3 I
M|AKE(1017) HRETHE (Z0fh) F\HA-12254% 6. 12. X I
#|A21E(1018) TRETFE (ZF01ith) F85-23254# 3. 5. i =3 I
M|AKE (1019) HRETHE (Z0fih) FE6-554% 5. 3. [riz] =3 I
A2 1E (1020) TXETFE (ZF01th) FE6-654R 5. 3. i =3 I
M|AKE (1021) HRETHE (Z0fih) FH6-154% 5. 3. [ric] =3 I
|15 (1022) TXRETFE (F01th) FE6-854R 5. 3. il =3 I
AKE (1023) HRETHE (Z0fih) FH6-954R 5. 3. [riz] =3 I
AT (1024) TRETFE (Z01th) FE6-10548 4. 3. il =3 m
AKE (1025) TRETHE (Z0fh) Fw6-1154 4. 3. X m
A 1E (1026) TXETFE (ZF01th) FE6-1854R 1. 4. il =3 I
M|AKE (1027) HRETHE (Z0fh) F86-2254% 3. 3. X I
A5 (1028) THRETFE (ZF01th) FE6-3354R 10. 3. il =3 I
AKE (1029) TRETHE (Z0fh) Fa6-4154 3. 3. [riz] =3 m
A 45 (1030) TRETFE (ZF01th) FE6-42548 5. 8. il =3 I
A5 (1031) TRETFE (Z01th) FE6-47548 5. 3. ic]=3 I
M|AKE (1032) HRETHE (Z0fi) w1254 2. 7. [ric] =3 I
#|A1E (1033) TXRETFE (F01th) FwmI-2548 2. 5. ic]=3 I
AKE (1034) HRETHE (Z0fi) wI-254 3. 3. X I
A 45 (1035) TRETFE (F01th) FwI-354& 3. 5. il =3 I
A5 (1036) HRETHE (Z0fih) F\I-354 2. 5. X I
A5 (1037) TXETFE (F01th) FwI-354& 2. 5. Fic]=3 I
A5 (1038) HRETHE (Z0fih) FI-354 3. 3. X I
AT (1041) TXRETFE (Z01th) FwmI-2054 5. 3. il =3 I
MAKE (1042) HRETHE (Z0fh) FBI-2154 4. 3. X I
AT (1043) TRETFE (F0th) \I-2254 5. 6. il =3 I
KT HRETHE (Z0fth) F\WI-2T54 12. 6. X I
AT (1044) TRETHE (ZF01th) F&T-28548 13. 4. il =3 I
AKE (1045) HRETHE (Z0fh) FBI-2954 6. 1. X I
A5 (1046) TRETFE (F01th) FmT-3054 6. 5. ic]=3 I
ZEitE HRETHE (Z0fh) FI-3154 11. 6. ] = I
KiERE TEEFE (F0fh) FEI-3254 6. 6. ] = I
215 (1050) HRETHE (Z0fh) FaI-6254 5. 6. X I
#|A4E (1051) TXREFE (Z0fh) RiF1-305#& 5. 1. [iE] =8 I
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m) (m)
#|A1E (1052) TREFE (Z0fh) RiF1-3254& 3.6 3.3 ] = I
AKE (1053) HRETHE (1) FHEEAALER 2.0 3.0 X I
A5 (1054) TXRETFE (Z04th) BiF1-10054# 2.7 3.5 i =3 I
A5 (1055) HRETHE (Z0ft) EEH1-10154 4.8 4.0 ] = I
A 45 (1056) TXRETFE (Z01th) BiF1-10554# 3.4 7.2 ic]=3 I
AKE (1057) TRETHE (Z0fi) EEH1-12754 3.8 4.0 ] = I
#4245 (1058) TXRETFE (Z01ith) BiF1-13054# 3.0 4.5 i =3 I
A4S (1059) HRETHE (Z0fi) EH51-13554 2.6 2.5 ] =8 I
#2145 (1060) TXRETFE (Z01th) BiF1-15154 2.0 4.8 i =3 I
MAKE (1061) HRETHE (Z0fi) EEH1-15154 4.4 4.0 ] =8 I
A5 (1062) TXRETFE (F01th) RBiF1-15354# 2.2 3.2 il =3 I
AKE (1063) HRETHE (Z0fih) E#51-15354 3.6 3.8 ] =8 I
A5 (1064) TRETFE (Z01th) BiF1-15454 4.3 3.0 il =3 I
A4S (1065) TRETHE (Z0fih) E#51-15554 4.2 3.0 1= I
A 1E (1066) TXRETFE (F01ith) BiF1-1585# 2.1 4.9 il =3 I
M|AKE (1067) TRETHE (Z0fih) E#51-15854% 3.6 3.1 1= I
A 1E (1068) TXRETFE (Z01ith) BiF1-15954# 2.2 3.5 il =3 I
A4S (1069) TRETHE (Z0fi) EH51-16154 2.0 6.8 ] =8 I
#EA1E (1070) TXRETFE (Z01ith) BiF1-16154 4.3 7.0 il =3 I
|2 (1071) TXRETFE (Z01ith) BiF1-16254 5.3 4.0 ic]=3 I
M|AKE (1072) TRETHE (Z0fh) EH51-16554 3.8 5.0 ] =8 I
FEANE TEEFE (F0fh) RiF1-16654& 13.5 5.0 ] = I
BTG HRETHE (Z0fih) E#51-16654% 13.7 3.0 ] = I
A5 (1073) TXRETFE (Z01th) BiF1-16754# 4.5 3.6 ic]=3 I
M|AKE (1074) HRETHE (Z0fi) EE51-16954 5.0 3.0 ] = I
A5 (1075) TXRETFE (Z01ith) BiF1-16954# 2.9 3.2 il =3 I
M|AKE (1076) TRETHE (Z0fih) E51-43254 6.3 4.0 ] = I
b= =y v TREFE (F0fh) RiF1-19354& 1.4 6.0 5] =8 I
M|AKE (1077) TRETHE (Z0fih) E#51-22554 13.5 6.0 ] = I
A2 1E (1078) TXRETFE (Z01th) BiF1-23554# 3.5 4.3 il =3 I
M|AKE (1079) HRETHE (Z0fh) E51-24154 2.3 8.0 ] = I
#2145 (1080) TXETFE (Z01th) RBiF1-2585# 4.9 17.0 ic]=3 I
M|AKE (1081) HRETHE (Z0fih) EH51-271254 6.2 4.0 ] = I
|15 (1082) TXETFE (F01ith) BiF1-208E5# 4.3 4.0 il =3 I
A5 (1083) TRETHE (Z0fih) E#51-38554% 3.2 21.6 ] = I
A5 (1084) TRETFE (Z01ith) BiF1-3005# 5.0 3.0 ic]=3 I
A5 (1085) TRETHE (Z0fi) EEH1-17154 9.4 4.0 ] =8 I
A 1E (1086) TRETFE (Z01ith) BiF2-154 2.5 6.6 ic]=3 I
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m) (m)
A5 (1087) TRETFE (Z01th) BiF2-654# 2.1 3.0 i =3 m
A5 (1088) TREFE (F0fh) Ri52-1254 6.6 6.6 ] =8 I
A5 (1089) TXREFE (Z0fh) RiF2-1358 3.7 7.4 5] = I
A5 (1090) TXREFE (F0fh) Ri52-1354 2.3 4.5 ] = I
A5 (1091) TXREFE (Z0fh) RiF2-155% 2.3 5.0 5] = I
AKE (1092) TREFE (F0fh) Ri52-1754 53 4.0 ] = I
A 1E (1093) TREFE (Z0fth) RiF2-2254% 4.0 4.5 ] = I
AKE (1094) TREFE (F0fh) Ri52-285% 4.7 4.6 ] =8 I
A 4E (1095) TREFE (Z0fh) RiF2-295#% 3.0 2.1 ] =8 I
A5 (1096) TREFE (F0fh) Ri52-2954 4.3 3.5 ] =8 I
A5 (1097) TREFE (Z0fth) RiF2-305#& 7.3 4.0 5] =8 I
A5 (1098) TREFE (F0fh) Ri52-3254 3.0 4.9 ] =8 m
A5 (1099) TREFE (Z0fh) RiF2-4054 4.3 3.0 5] =8 I
AKE (1100) TREFE (F0fh) Ri52-4254 4.3 3.0 1= I
L5 (1101) TREFE (Z0fh) RiF2-4354% 4.3 3.0 ] =8 I
M|AKE (1102) TREFE (F0fh) Ri52-44545 4.3 3.0 1= I
A5 (1103) TREFE (Z0fth) RiF2-4154% 2.3 4.0 ] =8 I
AKE (1106) TXREFE (F0fh) Ri52-5254 3.5 3.6 ] =8 I
LK (1107) TREFE (Z0fth) RiF2-5454% 3.2 6.0 5] =8 I
A2 1E (1108) TXEFE (Z0fth) RiF2-5454% 2.6 6.0 5] = I
M|AKE (1109) TREFE (F0fh) Ri52-5454% 2.9 6.0 ] =8 I
A5 (1110) TXEFE (Z0fh) RiF2-555% 2.4 4.0 5] = I
|mAE(111) TXREFE (F0fh) Ri52-555% 3.0 3.5 ] = m
|AKE(1112) TREFE (Z0fh) RiF2-565# 2.0 6.5 ] = I
M|AKE (1113) TXEFE (F0fh) Ri52-575 2.4 6.9 ] = I
|AKE (1114) TREFE (Z0fh) RiF2-575#% 2.5 7.3 5] = I
M|AKE (1115) TXREFE (F0fh) 2i52-595 3.9 3.6 ] = I
AT (1116) TXREFE (Z0fh) RiF2-625# 2.5 9.5 5] =8 I
mAE(1117) TREFE (F0fh) Ri52-6254% 10.0 3.5 1= I
A5 (1118) TREFE (Z0fh) RiF2-635# 4.0 3.6 5] =8 I
M|AKE(1119) TEREFE (F0fh) Ri52-6354% 11.6 3.5 1= I
AT (1120) TRETHFE (F01ith) BiF2-6454 10.6 3.5 i =3 I
M|mANE(1121) TXEFE (F0fh) 2i52-655% 3.6 3.7 ] =8 I
| (1122) TREFE (Z0fh) RiF2-665F 2.2 5.0 AmX I
M|AKE (1123) TEREFE (F0fh) 2i52-665 6.3 4.0 ] = I
ALK (1124) TREFE (Z0fth) RiF2-675#% 2.2 3.0 ] = I
M|AKE (1125) THEREFE (F0fh) Ri52-6154 6.3 4.0 ] = i}
AT (1126) TXREFE (Z0fth) RiF52-685F 3.0 5.5 5] = I
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m) (m)
|;LKE (1127) TREFE (Z0fh) RiF2-695# 4.0 8. ] = I
MAKE (1128) TREFE (F0fh) 2i52-71054 3.6 22. ] =8 m
AT (1129) TREFE (Z0fh) RiF2-T15& 3.2 2. 5] = I
M|AKE (1130) TREFE (F0fh) Ri52-7454% 3.9 3. ] = I
A (1131) TXREFE (Z0fh) RiF2-T454% 2.3 4. 5] = I
M|AKE (1132) TREFE (F0fh) Ri52-7654 4.0 3. ] = I
A5 (1133) TREFE (Z0fh) RiF2-T156& 4.0 3. ] = I
M|AKE (1134) TXREFE (F0fh) Ri52-71854% 2.1 3. ] =8 I
A5 (1135) TREFE (Z0fh) RiF2-7185#% 2.6 3. ] =8 m
MAKE (1136) TXREFE (F0fh) 2i52-835#% 2.3 5. ] =8 I
A5 (1138) TREFE (Z0fth) RiF2-925% 2.4 4. 5] =8 I
M|AKE (1139) TREFE (F0fh) 2i52-965% 2.8 7. ] =8 I
A5 (1140) TREFE (Z0fth) RiF2-965# 4.3 7. 5] =8 I
|mAE(1141) TREFE (F0fh) Ri52-9754 2.5 4. 1= I
|AE (1142) TREFE (Z0fh) RiF52-985#% 5.5 3. ] =8 I
MAKE (1143) TREFE (F0fh) 2i52-985% 6.6 3. 1= I
|EANE (1144) TREFE (Z0fh) RiF2-995#% 5.5 3. ] =8 m
AKE (1145) TREFE (F0fh) 2i52-9954 6.8 3. ] =8 m
AT (1146) TRETFE (F01ith) BiF2-10054# 5.5 3. il =3 I
AL (1147) TXRETFE (F04th) BiF2-10054# 6.7 3. ic]=3 m
MAKE (1148) TRETHE (Z0fih) E#52-10254 2.8 4. ] =8 I
AT (1149) TXRETFE (F01ith) RBiF2-1035# 2.3 4. ic]=3 m
M|AKE (1152) TRETHE (Z0fih) E#52-11654 2.8 5. ] = I
A5 (1153) TXRETFE (F01ith) BiF2-12354# 3.9 3. il =3 I
M|AKE (1154) HRETHE (Z0fih) E#52-13354 6.4 6. ] = I
A 4E (1155) TRETFE (Z01ith) BiF2-13354# 4.0 6. Fic]=3 I
AKE (1156) HRETHE (Z0fih) E#52-14354 10.7 4. ] =8 I
AL (1157) TXRETFE (Z01ith) BiF2-14454 2.1 1. il =3 I
MAKE (1158) TRETHE (Z0fih) EE52-144548 3.7 6. ] = m
A5 (1159) TXRETFE (Z01th) BiF2-15354# 4.5 5. il =3 I
|A1E (1573) HRETHE (Z0fih) &2-254 6.4 3. [icp = I
AT (1574) TRETFE (F01ith) &2-654% 2.0 8. it =8 I
|A1E (1575) HRETHE (Z0fih) &H1-654% 2.1 4. [icp = I
A5 (1576) TEEFE (Z0fh) H1-1654 9.0 5. [iich: =3 I
M|AKE (1577) TRETHE (Z0ft) H1-1754 8.5 5. [icp= = I
#|A21E (1578) THXREFE (F0fh) H1-1854& 8.5 5. [iich: =3 I
M|AKE (1579) TRETHE (Z0fh) £2-2154 6.3 3. [icp= = I
A 1E (1580) THEEFE (F0fh) #1-3854& 1.4 3. [iich: =3 I
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m) (m)
A5 (1581) TREFE (F0fh) &H1-4654 6.3 4. ik =3 I
MAKE (1582) TRETHE (Z0fh) H1-4654 2.1 4. [icp= =8 I
A5 (1583) TXREFE (F0fh) H1-4154 7.3 8. ik =3 I
AKE (1584) TRETHE (Z0fh) H1-4754 6.3 8. [icp =8 I
A 4E (1585) TEEFE (F0fh) H1-4154 6.3 8. [iich: =3 I
A 15 (1586) TRETHE (Z0fh) H1-4754 6.3 6. [icp= = I
A5 (1587) THEEFE (F0fh) #H1-4854 2.3 8. ik =3 I
R HRETHE (Z0fh) H1-5254 53 9. ik = I
A5 (1589) THEEFE (Z0fh) #H1-6954& 3.8 8. [iich: =3 I
A5 (1590) TRETHE (Z0ft) H1-1354 3.6 3. [icp = I
AT (1591) TXREFE (Z0fh) H1-1T54 2.3 8. [iich: =3 I
AKE (1592) TRETHE (Z0fh) H1-8454 2.8 6. [icp = I
A 1E (1593) THREFE (Z0fh) #H1-9054 2.3 7. [iich: =3 I
AKE (1594) TRETHE (Z0ft) H1-9154 3.4 9. [icp = I
A 4E (1595) TXREFE (F0fh) #1-9354 3.1 9. [iich: =3 I
A5 (1596) TRETHE (Z0fh) H1-9454 2.5 5. [icp = I
A5 (1597) THREFE (F0fh) #H1-9454 3.0 3. [iich: =3 m
A5 (1598) TRETHE (Z0fh) H1-9554 2.5 5. [icp =8 I
A5 (1599) TREFE (F0fh) #H1-9654 2.5 5. [iich: =3 I
A 45 (1600) TRETFE (Z01th) &H1-1065# 4.0 5. it =8 I
M|AKE (1601) HRETHE (Z0f) H1-10854% 3.4 5. [iich = I
A 1E (1602) TRETFE (F01th) &H1-11054 2.9 5. it =8 I
A4S (1603) HRETHE (Z0f) H1-11154 2.2 3. [icp = I
A5 (1604) TRETFE (Z01th) &H1-11554 7.4 3. [rich =8 I
A5 (1605) HRETHE (Z0f) H1-12254 2.8 3. [icp= = I
A 1E (1606) TRETFE (Z01th) &H1-1255# 3.3 6. it =8 I
AKE (1607) HRETHE (Z0ft) H1-13054 2.0 6. [icp = I
A 1E (1608) TRETFE (Z01Mth) &H1-13554# 9.4 9. it =8 I
A5 (1609) HRETHE (Z0Of) B1-14154% 2.3 6. ik = I
AL 1E (1610) TXRETFE (ZF01ith) &H1-14854 3.6 14. [rich =8 I
M|AKE(1611) TRETHE (Z0Of) H1-14954% 8.4 11. [iicp =8 I
AT (1612) TRETFE (ZF01th) &H1-15754 2.0 10. [tich =8 I
M|AKE (1613) HRETHE (Z0f) H1-16054% 2.5 3. [icp= = I
AT (1614) TRETFE (F01th) &H1-17254 3.3 8. [tich =8 I
M|AKE (1615) HRETHE (Z0ft) H1-17454% 4.4 10. [icp = I
A5 (1616) TRETFE (Z01th) &H1-17554 7.0 6. [tich =8 I
M|AKE (1617) HRETHFE (Z0Of) H1-17654% 2.9 4. ik = I
|15 (1618) TRETFE (Z01th) &H1-17654 4.0 9. [tich =8 I




BB B8 2 s 128 FER | RLE
m) (m)
A5 (1619) TXREFE (F0fh) H1-17854 2. 4. ik =3 I
AKE (1620) HRETHE (Z0f) H1-17854% 2. 1. [icp= =8 m
AT (1621) TXREFE (F0fh) H1-17954 2. 3. ik =3 I
MAKE (1622) HRETHE (Z0f) H1-18054% 2. 4. [icp =8 I
AT (1623) THXREFE (F0fh) #H1-18154 4. 6. [iich: =3 I
MAKE (1624) HRETHE (Z0f) H1-18254% 3. 3. [icp= = I
A5 (1625) THXREFE (F0fh) #H1-18454 2. 3. ik =3 m
A5 (1630) HRETHE (Z0f) H1-19354% 2. 4. [icp = I
A5 (1632) THXREFE (F0fh) #H1-19554 2. 4. [iich: =3 I
MAKE (1633) HRETHE (Z0f) H1-19654% 2. 6. ik = I
AT (1634) THXEFE (F0fh) #H1-19854 2. 6. [iich: =3 I
AKE (1635) TRETHE (Z0Of) H1-19954% 3. 4. [icp = m
A 1E (1636) THXREFE (F0fh) #H1-19954 2. 4. [iich: =3 I
MAKE (1637) HRETHE (Z0f) H1-20254% 2. 4. [icp = I
#|A1E (1638) THXREFE (F0fh) #1-20354 2. 2. [iich: =3 m
AKE (1639) HRETHE (Z0f) H1-20454% 2. 3. [icp = I
A5 (1640) THREFE (F0fh) #H1-20454 3. 3. [iich: =3 m
MAKE (1641) TRETHE (Z0Of) H1-21454% 2. 5. [icp =8 I
AT (1642) THXEFE (F0fh) #H1-21554 4. 4. [iich: =3 m
AT (1643) THXREFE (F0fh) #H1-22054 3. 3. [iich: =3 m
MAKE (1644) HRETHE (Z0Of) H1-22054% 6. 3. [icp= =8 I
AT (1645) THXREFE (F0fh) #H1-22154 3. 4. ik =3 m
A KE (1646) HRETHE (Z0f) H1-22154 5. 3. [icp = I
A5 (1651) THXREFE (F0fth) #1-22854 2. 4. ik =3 I
A4S (1653) HRETHE (Z0f) H1-22954% 2. 4. [icp= = il
#4145 (1655) THXREFE (F0fh) #H1-22954 2. 4. ik =3 m
A5 (1656) HRETHE (Z0f) H1-23054 7. 4. [icp = I
A5 (1657) THREFE (F0fh) #1-23054 2. 4. [iich: =3 m
A4S (1659) HRETHE (Z0f) H1-23154 3. 4. [icp = I
A 1E (1660) THXREFE (F0fth) #H1-23454 3. 3. [iich: =3 m
MAKE (1661) HRETHE (Z0Ofh) H1-23554% 3. 3. [iicp =8 il
A5 (1662) THEEFE (F0fh) #H1-23654 3. 3. ik =3 m
AKE (1663) HRETHE (Z0fh) H1-23854% 4. 4. [icp= = il
A 1E (1666) TXREFE (F0fh) #H1-24254 1. 15. [iich: =3 I
AKE (1669) HRETHE (Z0Ofh) H1-26454% 2. 5. [icp = I
A5 (1670) TXREFE (F0fh) #H1-26654 2. 5. ik =3 m
M|AKE (1672) HRETHE (Z0f) H1-27554% 2. 3. [icp =8 I
A5 (1673) THXREFE (F0fh) #1-28054 3. 3. [iich: =3 m
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m) (m)
;L 5EE (1) THXREFE (F0fh) #1-28054 5.0 1.5 ik =3 I
JtiEiE HRETHE (Z0f) H1-30454% 8.3 9.3 ik {3 I
LIBESEE THXREFE (F0fth) #1-30454 1.4 2.8 [iich: =3 I
MAKE (1675) HRETHE (Z0f) H1-30454% 3.5 12.1 [icp = I
|58 (2) THXREFE (F0fh) #1-30454 2.5 2.0 ik =3 I
ZhRIE HRETHE (Z0f) H1-30454% 4.5 8.5 [icp = il
ZhRSERE TRETFE (ZF01th) &H1-30454# 13.0 3.0 it =8 I
M|AKE (1677) HRETHE (Z0Of) H1-30454% 4.3 8.4 [icp = I
M BB THXREFE (F0fth) #1-30454 5.5 8.5 ik =3 m
MAKE (1678) HRETHE (Z0f) H1-30454% 2.1 8.5 [icp = I
AT (1679) TRETFE (F01ith) &H1-3195# 2.6 3.0 it =8 I
215 (1680) HRETHE (Z0fh) H1-32354 2.5 6.6 [icp =8 I
|15 (1681) TRETFE (F01ith) &H1-371154 2.0 8.9 [rich =8 I
MAKE (1682) HRETHE (Z0f) H1-37154 2.3 8.0 [icp = I
A 1E (1683) TRETFE (ZF01ith) &H1-38254#% 3.0 13.0 [rich =8 I
MAKE (1684) HRETHE (Z0Of) H1-39254% 2.4 6.0 [icp = il
A 4E (1685) TRETFE (Z01th) &H1-40054 4.9 3.4 it =8 I
A5 (1686) HRETHE (Z0fh) H1-40854% 3.6 5.1 [icp= = il
|15 (1687) TRETFE (ZF01th) &H1-40854#R 2.8 6.6 [rich =8 I
A 1E (1688) TRETFE (Z01th) &H1-40854#R 2.0 6.7 it =8 I
A5 (1690) HRETHE (Z0f) H1-41354 2.0 6.6 [icp= =8 I
A 1E (1695) TRETFE (ZF01ith) &H1-43054 2.4 5.4 it =8 I
A4S (1696) HRETHE (Z0f) H1-43154 2.4 5.4 [icp = I
AT (1697) TRETFE (Z01th) &H1-44054 2.6 6.2 [rich =8 I
A4S (1698) HRETHE (Z0f) HB1-44154% 2.0 5.8 [icp= = I
A5 (1699) TRETFE (Z014th) &H1-44154 2.7 5.4 it =8 I
A5 (1700) HRETHE (Z0Ofh) H1-46754 3.6 3.0 [icp = I
L5 (1701) TRETFE (F01ith) &2-4548 4.5 3.7 it =8 I
M|AKE (1702) TRETHE (Z0fh) H2-1654 6.9 3.4 [icp = I
A5 (1703) THEEFE (Z0fh) #2-1954& 8.0 3.4 [iich: =3 I
M|AKE (1704) HRETHE (Z0fh) H2-2054 7.0 3.4 [iicp =8 I
A 4E (1705) THEEFE (F0fh) #2-2354 9.1 4.7 ik =3 I
A5 (1706) TRETHE (Z0Ofh) H2-2454 3.3 3.3 [icp= = I
| (1707) THEEFE (F0fth) #2-2954& 7.0 3.7 [iich: =3 I
MAKE (1708) HRETHE (Z0fh) £2-3054 9.0 3.7 [icp = I
A5 (1709) THEEFE (F0fh) #2-3154 7.0 3.7 ik =3 I
M|AKE (1710) HRETHE (Z0fh) H2-3454 2.2 3.6 [icp =8 I
| (1711) THEEFE (F0fh) #2-3954#& 3.1 14.2 [iich: =3 I




BB B8 2 s 128 FER | RLE
m) (m)
|LKE(1712) TREFE (F0fh) #2-9754 4.0 2.4 ik =3 m
M|AKE (1713) TRETHE (Z0fh) £2-9854# 4.0 2.4 [icp= =8 I
A5 (1715) THEEFE (F0fh) #2-9954& 4.8 2.8 ik =3 I
mAaE117) HRETHE (Z0ft) E2-10154% 4.3 6.1 [icp =8 I
LK (1719) TRETFE (ZF01th) &H2-10254 2.2 2.7 [rich =8 I
|AKE (1720) HRETHE (Z0Of) £2-10254% 2.2 2.7 [icp= = I
| (1721) TRETFE (ZF01th) &H2-10454 3.6 3.1 [rich =8 I
M|ANE (1722) TRETHE (Z0fh) £2-10454% 4.6 3.4 [icp = I
AT (1723) TRETFE (F01th) &H2-12154 8.3 9.8 [rich =8 I
M|AKE (1724) HRETHE (Z0fh) £2-13854% 4.7 9.2 [icp = I
AT (1725) TRETFE (ZF01ith) &H2-17354 3.9 2.8 it =8 I
MAKE (1726) HRETHE (Z0fh) H2-17354 3.8 6.0 [icp = I
| (1727) TRETFE (ZF01th) &H2-17354 1.5 6.9 [rich =8 m
MAKE (1728) HRETHE (Z0fh) £2-18454% 3.4 4.8 [icp = il
AT (1729) TRETFE (ZF01th) &H2-2055# 2.2 4.5 [rich =8 I
AKE (1730) TRETHE (Z0fh) H2-21454% 6.7 5.5 [icp = I
| (1731) TRETFE (ZF01th) &H2-25454 5.5 5.17 it =8 m
M|AKE (1733) HRETHE (Z0fh) £2-27854% 3.7 4.1 [icp =8 il
AT (1734) TRETFE (ZF01th) &H2-27954# 3.7 3.8 [rich =8 I
A5 (1735) TRETFE (ZF01th) &H2-2905# 2.4 2.5 it =8 I
M|AKE (1737) HRETHE (Z0fh) £2-30654% 3.9 6.0 [icp= =8 I
A5 (1738) TRETFE (ZF01ith) &H2-3075# 5.0 3.6 it =8 I
M|AKE (1739) HRETHE (Z0fh) £2-30954% 3.4 4.2 [icp = I
AT (1740) TRETFE (ZF01th) &H2-3105# 3.5 4.2 [rich =8 I
|mAE(174) HRETHE (Z0fh) £2-31154 3.4 4.2 [icp= = I
AT (1742) TRETFE (ZF01th) &H2-31254 3.1 4.2 it =8 I
AKE (1745) HRETHE (Z0fh) H2-45454% 2.6 3.6 [icp = I
AT (1746) TRETFE (ZF01th) #&H2-45554% 2.6 3.6 it =8 I
M|AKE (1747) HRETHE (Z0fh) H2-45654% 2.6 3.6 [icp = I
AT (1748) TRETFE (ZF01th) &H2-4605#R 2.9 4.0 [rich =8 m
MAKE (1749) TRETHE (Z0Ofh) H2-46154% 2.4 5.4 [iicp =8 il
A 4E (1750) TRETFE (ZF01th) &H2-46454% 3.2 3.5 [tich =8 m
M|AKE (1751) HRETHE (Z0fh) H2-46554% 3.3 3.3 [icp= = I
A5 (1752) TRETFE (ZF01ith) &H2-4665#% 3.2 4.1 [tich =8 I
MAKE (1753) HRETHE (Z0Ofh) H2-46754% 3.3 4.2 [icp = I
A5 (1754) TRETFE (ZF01th) &H2-49254 3.0 3.7 [tich =8 m
AKE (1755) HRETHFE (Z0fh) £2-49854% 2.7 3.6 [icp =8 I
A 1E (1756) TRETFE (ZF01th) &H2-49954#R 3.2 4.1 [tich =8 m




B4 B4 BE 1 BR | mar | mex
|ANE(1757) TRXETHE (ZDfth) &2-5025#% 3. 5.0 [icp =3 I
HAKE (1758) MXETAE (Z0fth) #2-5035#% 3. 1.0 ich- =3 il
AT (1760) TRETHIE (Z0ith) FERI4-6054R 6. 4.0 X I
H|AKE (1761) TXETAGE (Z0ft) FEE4-605HR 6. 4.0 Aax I
Ry &) —iREE (EERMM) 1135 11. 11.0 Eld=3 I
Ry Z(Q2) —fiREE (EERMMN 1135 9. 46.2 B’X I
Ry IR Q) —iREE (EERMM) 1135 8. 50.3 RE I
Ry R4 —fiEE (EERMMN 1135 8. 11.0 FEX I
Ry & (5) —REE (EERMM) 1135 1. 14.0 Eld=3 I
EAKE (1764) —fiREE (EERMSN) 4025 9. 1.7 i~ I
AT (1765) —REE (EEXMSN) 4025 6. 8.8 [icp =3 I
HESE —iEE (EERMSN) 4025 6. 1.4 [icp:{3 I
AT (1766) —iREE (EEXMS) 4035 12. 24.0 MER I
H|AKE (1767) —fiREE (EEXMS) 4035 1. 24.0 MEX il
AT (1768) —iREE (EEXMS) 4035 1. 35.6 MER I
HAKE (1769) —fiEE (EEXMS) 4035 8. 31.0 ImR il
|AIE(1770) —iREE (EEXMS) 4035 1. 33.0 MER I
|AKE AT —fiREE (EEXMS) 4035 1. 20.1 MEX il
E|AIET772) —iREE (EEXMS) 4035 6. 26.0 MER I
HTEISHE —iREE (EEXMS) 4035 5. 24.0 MER I
BEE251E —fiEE (EEXMS) 4035 5. 24.0 MEX il
hEE (HTEES) —iREE (EEXMS) 4035 5. 24.0 MER I
|AKE773) —fiREE (EEXMS) 4035 5. 31.0 ImR I
E|AE774) —iREE (EEXMS) 4035 5. 26.0 MER I
HTE2SE —fiREE (EEXMS) 4035 5. 24.1 MEX il
HTEISHE —iREE (EEXMS) 4035 5. 24.1 MER I
NG (1775) —fiREE (EEXMS) 4035 4. 54.0 MEX I
AN (1776) —iREE (EEXMS) 4035 4. 48.0 MER I
|AKEATIT) —fiREE (EEXMS) 4035 4. 27.8 ImR il
EAIE(1778) —iREE (EEXMS) 4035 4. 21.9 AN il
|AKE1779) —fiREE (EEXMS) 4035 4. 28.3 ImR il
WEE —fREE (FEERMES) 4035 3. 40.3 MER I
HI51E51 —fiEE (EEXMS) 4035 3. 39.5 MEX I
AT (1780) —iREE (EEXMS) 4035 3. 40.0 MER I
M|mAKE (1781) —fiEE (EEXMS) 4035 3. 25.1 MEX I
AT (1782) —iREE (EEXMS) 4035 2. 47.0 MER I
ALK (1783) —fiREE (EEXMS) 4035 2. 34.4 MEX il
AT (1784) —iREE (EEXMS) 4035 2. 35.5 MER I




B4 B4 BE 1 BR | mar | mex
AT (1785) —iREE (EEXMS) 4035 2.6 46. 4 MER I
AT (1786) —fiEE (EEXMS) 4035 2.6 40.4 MEX I
TFEHER —fREE (FEERMES) 4605 1.5 2.6 [icp =3 I
H|AKE (1787) —fiREE (EEXMS) 4605 4.5 3.5 [icp {3 I
AT (1788) —iREE (EEXMS) 4605 5.9 21.7 MER I
TFE —fiREE (EEXMS) 4605 5.8 8.0 [icp {3 I
AT (1837) TRETHE (Z0fh) H1-1654#% 2.0 4.8 [icp =3 I
MAKE (1838) TXETAGE (Z0fth) #2-12154% 3.6 16.6 [icp 3 I
AT (1839) TRETHE (ZDith) #2-1355#R 6.1 4.0 [ip-{ I
HAKE (1840) MXETAGE (Z0fth) #2-1365#% 3.3 3.9 R I
FAIE (1841) TRETHE (ZDith) #H2-13754 6.5 4.1 [ip- I
AN (1843) MXETAE (Z0fth) &H2-1454% 2.1 5.5 R I
FAIE (1844) TRETHE (Z0) H2-158 3.4 8.3 [ip- = I
EAKE (1846) TXETAGE (Z0fth) #2-21654% 4.9 5.5 R I
NG (1847) TRETHE (ZDith) #2-21754# 5.3 5.5 [ip-{ I
HAKE (1848) TXETAE (Z0fth) &2-275#% 2.3 3.5 R I
AT (1849) TRETHE (ZDith) %2-2835#R 3.4 3.1 [ip- = I
A K5 (1850) TRETAGE (Z0fth) %2-28454% 2.5 2.5 [ih- =3 I
FAIE (1851) TRXETHE (ZDfth) &2-355#% 2.2 3.6 [icp =3 I
FA1E (1852) TRXETHE (ZDfh) &2-365# 2.2 3.6 [icp =3 I
A K5 (1855) MRETAGE (Z0fth) #2-45754% 2.4 6.4 ich- =3 I
AT (1856) TRETHE (ZDfith) %2-46354R 3.8 6.0 [ip- = I
HAKE (1857) TXETAGE (Z0fth) #2-48154% 2.6 16.8 ich- =3 I
AT (1858) TRXETHE (ZDfh) &2-4854% 2.1 8.5 [icp =3 I
HEAKE (1859) MXETAGE (Z0fth) #2-51354% 2.1 6.1 R il
AT (1879) TRETHE (2#) &H/NFHR 2.6 9.3 [i]=3 I
HAKE (1892) MXETAGE (Z0fth) BIF1-19254 6.0 16.4 [ >3 I
AT (1893) TRETHE (Z0fh) REF1-22654R 2.0 10.0 Aax I
AN (1894) MXETAGE (Z0fth) BIF1-43154 2.9 4.0 [ >3 I
AT (1896) TRXETHE (Z0fh) RE2-15554% 3.2 14.0 Aax I
AKE (1898) TXETAGE (Z0ft) BEH2-HSHR 13.0 5.5 [ >3 I
FAHE (1901) TRETHE (Z0ith) BIEH2-95#H 2.5 15.2 X I
HAKE (1939) MRETAGE (14%) HHEREAIRER 2.3 6.8 Aax I
Ry oz 11) TRETHE (ZDfth) FES-27054R 8.0 3.0 X I
A K5 (2002) MXETAE (Z0fth) FERS-1305# 8.2 5.6 Aax I
1T (2003) TRETHE (Z0ith) FERE3-15354R 4.0 5.4 X I
A KE (2004) MXETAGE (Z0fth) FERIS-15454 5.8 6.0 Aax I
A 15 (2005) TRETHIE (Z0th) FERE3-15454R 2.0 3.5 X I




B E Bie % s 28 FER | ReE
m) (m)
#2145 (2006) TXEEFE (F0fh) FERE3-1795# 5. 2.8 [ric] =3 I
A5 (2007) HRETHE (Z0fh) FERE3-655H 5. 5.6 1= I
A 1% (2008) THXEFE (Z0fh) FErRE3-T05§ 1. 5.6 Ax I
A5 (2009) HRETHE (Z0fh) FwE-1158H 7. 6.0 1= I
#2145 (2010) TXEFE (Z0fh) FERI3-995#E 5. 1.6 (=3 I
M|AKE (2011) HRETHE (Z0fh) FERE3-995H 5. 5.5 )= I
|15 (2012) THXREFE (Z0fh) FERI3-995#E 5. 5.5 [riz] =3 I
M|AKE (2013) HRETHE (Z0fh) FARF4-14354% 2. 7.0 )= I
|25 (2014) TXEFE (F0fth) FERg4-15154& 2. 7.0 Ax I
|AKE (2015) HRETHE (Z0fh) FERF4-16154R 2. 4.0 )= I
#EA1E (2016) TEEFE (F0fth) FERg4-16254% 2. 4.0 Ax I
|AKE (2018) HRETHE (Z0fh) FBRES-154 2. 7.0 [i=3 I
;AT (2027) THEEFE (1#) KBFETKIGE 3. 5.7 )= I




